Winter 2019 Quiz 6

Name: Sghhm@

Math 412

Problem 1 (6 points). Circle all the subsets that are ideals of the given ring.

The subset of Z of all even numbers. @ All linear combinations of 6 and 9 in Z. AkA & )
b) The subset of Z of all odd numbers. 14+ =2 @ {0} C R[z]. {Og(}p Lo Dﬁ“naj on el M2

@ Matrices in Ms(Z) with even entries. f) The subset of Z[z] all p € Z[x] with p(0) = 1. “’L‘ié
Problem 2 (4 points). Consider the polynomials p(z) = x? + 7z + 6 and ¢(z) = 2% — 5z — 6 in

Q[z]. Use the Euclidean algorithm to find their greatest common divisor.

s a6 = i-(%{Sx-é)  ARx+ L
.

1&CZ+4>

Y -s5x-6= (%,6)(%&) + O

(

— 2@((:{7}9() = 2+l
d Al ﬁﬂMA(ﬁmWMxQ\UE ad §QM&M?j%l%7

LN = 4 d > _ 4 76&~59(—6>
X+ ‘&’(%—F?%+6 2 (



